v 9.620 ” 4.820

—

1 |

. 880 3.070 . 890 , 1.060 , 2000 650, 080 90 040 , 980 , 1970

8.020

¢a. 15.240

2.920
720
Glasbausteine

8.260

L

1.990
620
Glasbausteine

L1020 |
¢a.17.000

L eso | 13s0 | 1160

“71.0007

4.230

7l

1

2.910
’I 2.160 ’]

670 , 1.080 ., 1.230

1

650 g
2.490 ’] ’[ 2510 ’] 1.480 ’] ’] 2110 ﬂ ’| 2.270’[ 1.650 ’]
" M I I h— Tm— Sr—— I— — a— — = = I
9.620 .
@ Terrasse v -
: Raum 3
n S ; N Lichle H=261m o
TT ]
4.230 3.450 4.220
Kiiche 1 3
! @ ¥ 2.900 v
Lichte H.= 2.81 m /} 2190 ,]
iBp  1.560 v o
1 7] -
=t
< Raum 53:2141 2.80m
Lichte H.= 2.92 m - T o
©
(o]
2{280
i o k1 Kiche 2 §
'rT ?{.,‘._. -I Lichte H= 285 m o
Q0
: 00
o  Raum2 S o Flur 3 ¥ ] 279
= Lichle H=292m - Lichte H.= 2.92 m
A Flyr 2 ; 2 - 2 A
A 4.350 g L] | % o P A
L~ 2.h40 » ’IJ:\ 3.770 | Raum & ,
B \ Lichte H= 292 m e
i 14,440
8 | g [ 2
& Raumé Diele & Raum 7 M Raum8 @
Lichte H.= 2.92 m Lichte H.= 2.92 m™ | Lichte H=292m Lichte H.=2.92m
3.740 2.940 : 2.470 4.160
b - e S 1 T
] L H I g; H 1 § i
' 1.760
Eingang 2.030
Liche H=262m
/ &
™
[> L 3.130
T
Erdgeschoss
160 180
50], 2.880 |,| 1.080 L 1.560 |, 1.090 H, 2,200 L 1220 !
a 1.650 7 7 y410 7 s 1.590 "
I, 3,600 L 3.730 L 7
A tal

L ¢a. 14.440

4.475




[=3
2
=t
I's}
V1|
Qlo
o™
3|8
i pad
fom
-
=
mo
B3
S
Vﬂ'
(=)
-
)
']
V./I

Q0074180

| T A R

[ S T T T B

G

[

- /
* <o
2ld6e e wee g /
<
= . A
= m/ Vﬂ.' _ _\\
g —_ L %9 wouwonz,
= S N 2 - 2 7 o
3 / o //\3 —| 050 \_Mr oz~ 7 - /
- . 2 E |- &
J|M||!llplcx%_o|w; e RIM X |3
= SN s o e i s X O 3
® i % ——
T A A ¥
| —1%E| ||8]e LI N
I &xd ||als
R SR Y= ___Tigwey
s oovt R PSS N N | O I T— | &
B Vi S oeey 2 5 P e
e &8 AT M N LN
S o Kk by o o ™ Sy
oy (T8 AT My d AR
2 9_ [ goeo s s Go0F 57
A d .
= X — | — =] — ] g L _uooywogE L
jrs] >o

[
[ T S O A

Dachgeschoss

,,,,,

ca, 14.440




£

4.310

3.840

74

1

1.010 . 1.280

i azo’{

2.020

7

ca, 11.500

H, 4,710 ’] 6,780 y l
| .
' 3.910 |
2 S l
o Keller 1 P l
I ” Lichte H.= 1.88m
820 | |
| (I :
J‘éq e '
0 [=e]
je 4
| 1 L N
1300 [FRJTGr
’ g 7 %/ 3,820
; d : P50 |
l Helzung |2 Flur p788 g =
A 41490 1310 N a ] ] & - I
1 o0 8 [ Keller 2 A
A = o NI . o Lichte H= 171 m A '
o 900 pB6q, ©
| Tl || et
LN | |
| .
I L 2.810 L 8.680 | |
A A A
|
Kellergeschoss
1., 7.220 ,]‘, 7.220 ,‘.,
_-S,i
\ 2,00 m hoch
1 [
N
Raum 11 Raum 12 ~
kS
ﬁ ]
™ L"
i
Ln
Lo
bq
L:':: E
o
Raum 2 Flur 2 Flur 3 Raum 5 &

Keller 2

Schnitt A-A

3.220

3.360

2.060 L

L




